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QUESTION 1

Which statement correctly describes how Cisco Meraki devices behave should they be unable to contact the Meraki
Cloud server? 

A. The network devices will attempt to establish a connection to a locally hosted database server that has been
configured for high availability. 

B. The devices may be re-initiated into a backup mode if an administrator manually intervenes using a direct, local
connection. 

C. The network stops passing traffic across all devices and the interfaces including any connected non-Cisco Meraki
devices. 

D. The network devices continue to function normally (traffic lows at full rate) but management and configuration
functions are interrupted. 

Correct Answer: D 

 

 

QUESTION 2

Which Cisco product is the network management system,foundational controller,and analytics platform all the center of
....... network? 

A. Cisco DNA Spaces 

B. Cisco Meraki 

C. Cisco DNA Center 

D. Cisco Wireless Solutions 

Correct Answer: C 

 

 

QUESTION 3

Which of these statements clearly depicts increasing sophistication in the security threat landscape? 

A. 65% of attacks evade existing security tools 

B. 66% of connected devices are mobile 

C. 28% of top security constraints are caused by product compatibility 

D. 25% of users spend their worktime off network 

Correct Answer: A 
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QUESTION 4

What is one-way Cisco DNA Spaces simplifies location services? 

A. Cisco DNA Spaces uses multiple dashboards tor customers to segregate data 

B. Cisco DNA Spaces is run on-premises 

C. Cisco DNA Spaces focuses exclusively on customer behavior 

D. Cisco DNA Spaces provides a single pan 

E. e view of allocation-based services that can be customized based on the ser and permissions. 

Correct Answer: D 

 

 

QUESTION 5

What Cisco AirOS-based controller would you recommend to a customer who needs a physical controller tor a network
up to 150 APIs? 

A. Mobility Express 

B. Cisco 8540 

C. Cisco 3504 

D. Cisco WLC 

Correct Answer: C 
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